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1 In the sentence "The cat sat on the mat," what part of speech
is "cat"? Answer
a) Verb | b) Adjective | ¢) Noun | d) Adverb c¢) Noun
2 Which of the following is compound sentence?
Answer
a) He went to b) she cooked | ¢) The dog | d) They are b) she cooked dinner
the store dinner  and | barked coming to
and washed the
washed  the | loudly the party .
. dishes
dishes
3 What is the Superlative form of the adjective “good”?
Answer
a) Better | b) Best | ) Nice | d) Fine b) Best
b 13 ”‘7
4 Identify the correct synonym for “happy”? Answer
a) Sad ‘ b) Joyful ‘ c) Angry ‘ d) Tired b) Joyful
5 Which of the following sentences contains a prepositional
phrase? Answer
a) She danced | b) The book is | c) .We will | d) The b) The book is on the
gracefully. on the table. | arrive soon. | meowed
table.
loudly.
6 Choose the correct form of the verb to complete the sentence:
s (R his homework everyday”. Answer
a) Do | b) Does | ¢) Doing | d) Did b) Does
7 What type of conjunction is “but” in the sentence: “She
wanted to go to the party, but she had too much homework™? | Answer
a) b) c) d) None of o
Coordinating | Subordinating | Correlative | the options a) Coordinating
8 Which of the following is a correct use of the apostrophe?
Answer
a) Boys’ | b) Teacher’s | ¢) Dog’s | d)
basketball pet bowl Children’s d) Children’s book
team book
9 Identify the adverb in the sentence: “She sang beautifully”. | Answer
a) She b) Sang c) d) Sang | c¢) Beautifully
Beautifully | beautifully
10 | Which of the following is a simile?
Answer
a) The sun is | b) The sun isa c) ‘ The sun | d) The sun a) The sun is like a
like a yellow | yellow ball in | shines warms the ellow ball in the sk
ball in the sky. | the sky. brightly. earth. Y Y
11 Which is the plural form of “child”?
Answer
a) Childs | b) Childes | ¢) Children | d) Childs’ | ¢) Children
12 | Which of the following sentences is written passive words? | Answer
a) The teacher | b) ’ The | ¢) The | d) ’ The b) The student’s
praised  the | student’s student teacher’s .
, ! efforts were praised
student’s efforts were | praised the | efforts were
offorts. by the teacher.




praised by the | teacher’s praised by
teacher. efforts. the student.
13 What type of sentence is this: “Please sit down”?
Answer
a) Declarative | b) c) d) .
Interrogative | Imperative | Exclamatory ¢) Imperative
14 Choose the correct homophone: “their”, “there”, or
“ s Answer
they’re.
a) Their b) There c) They’re d) All are d) All are correct
correct
15 | IRDA is the regulator of which one of the following sectors Answer option
in India? (a,b,c or d)
a) Capital | b) Money | ¢) Insurance | d) Securities C
Market Market Market Market
16 | Match the following pairs [Place and Nickname]:
A. Myanmar I. Land of Blue Skies
B. England ii. Land of Smiles A .
. nswer option
C. Thailand ii. Land of Hope and (a,b,c or d)
Glory
D. Mongolia iv. Land of Golden
Pagoda
a) A-iv, B-iii, | b) A-i, B-ii, | ¢) A-iii, B-|d) A-ii, B-i, a
C-ii, D-i C-iii, D-iv iv, C-i, D-ii | C-iv, D-iii
17 | Which of the following statement is true?
A SEBI regulates insurance market in India. Answer option
B. SEBI is headquartered in Maharashtra. b d)
C. SEBI comes under the control of RBI. (@,b.cor
D. SEBI was established in 1988.
a)B&C b) C& D c)A&B d)B&D d
18 | Assertion (A):There are 12 public sector banks in India. A .
Reason (R):A developed country is not supposed to have nswer option
(a,b,c or d)
more banks.
a) A is false |b) A is true |c) A and R |d) A and R
but R is true. | but R is false | are true and | are true and
R is the | R is not the b
correct correct
explanation | explanation
of A of A
19 | Which one of the followings is an Indian payment card? Answer option
(a,b,c ord)
a) VISA b) ¢) Rupay d) Discover C
MasterCard
20 | Who served as the Chief Economic Advisor, RBI Governor, Answer option
and Minister of Finance? (a,b,c ord)
a) P. | b)Jaswant c)Yashwant | d) Man d
Chidambaram | Singh Sinha Mohan
Singh
21

Match the following pairs [State and Lok Sabha Seats]:
A. Maharashtra [

1. 40

Answer option
(a,b,c ord)




B. Uttar Pradesh ii. 42
C. Bihar ii. 48
D. West Bengal Iv. 80
a) A-iii, B-iv, | b) A-iv, B-iii, | ¢) A-i, B-ii, | d)A-iii, B- a
C-i, D-ii C-ii ,D-i C-iii, D-iv | iv, C-ii, D-i
22 | Which of the following is true?
A Tamil Nadu has more Lok Sabha seats than that of
West Bengal.
B. UP has the highest number of Lok Sabha seats. Answer option
C. Gujrat and Madhya Pradesh have equal number of (a,b,c ord)
Lok Sabha seats.
D. Rajasthan and Andhra Pradesh have equal number
Lok Sabha seats.
a)C&D b)A & C c)B&D dA&B C
23 | Assertion (A): The President is the head of state of the
Republic India. Answer option
Reason (R):The Government of India takes all the decisions (a,b, cord)
following the aid and advice tendered by the President.
a)AandR are | b)AandR are | c) A is false | d) A is true
true and R is | true and R is | butRistrue. | but R s
the  correct | not the correct false. d
explanation explanation
of A. of A.
24 | The minimum age |[Years] for an individual to contest the Answer option
Lok Sabha election is: (a,b,c ord)
a) 25 b) 30 c) 35 d) 40 a
25 | The largest North Eastern State of India [in terms of Answer option
geographical area] is: (a,b,c or d)
a) Assam b) Arunachal | ¢) Manipur | d)Meghalya b
Pradesh
26 | Matching the following pairs [Location and Indian State]:
A Sarnath i. Himachal Pradesh
B. Sanchi ii. Uttar Pradesh Answer option
C. Dharamshala iii. Bihar (@,b.cord)
D. Bodhgaya iv. Madhya Pradesh
a) A-iii, B-iv, | b) A-iv, B-ii, | ¢) A-i, B-ii, | d)A-ii, B-iv, d
C-i, D-ii C-iii, D-i C-iii, D-iv | C-i, D-iii
27 | Which of the following is false?
A Tawang is the smallest monastery in India.
B. Gompa is most sacred religious place of Hindus. Answer option
C. Himachal Pradesh is called as the ‘Land of
o (a,b,c ord)
Monasteries’.
D. Sikkim has the highest number of monasteries in
India.
a)A&C b)B & D c)A&B d)C&D C
28 | Which of the following institutes does not offer micro credit? Answer option

4




(a,b,c ord)

a) b) Payments | c) d) Regional b
Cooperative | Bank Commercial | Rural Bank
Bank Bank
29 | What is the name of the weak zone of the earth’s crust?
A. Seismic
B. Cosmic Answer option
C. Formic C
D. Anaemic
a)B b)D c)A d)C Seismic
30 | Match the ministerial portfolio allotted recently in the
Government of Arunachal Pradesh.
A. Finance Minister I. Sri Kento Jini Answer option
B. Education Minister | ii. Sri Nyato Dukam ©)
C. Commerce Minister | iii. Sri Pasang Dorjee
Sona
D. Law Minister iv. Sri Chowna Mein
a)A-ii, B-iii, | b) A-iv, B-ii, | ¢) A-iv, B-|d) A-i, B-iii, . e e s
b, | iDL Cal DA, | o, Do, | A% Bl Gk D
31 | Which of the following statements is/are True/ False?
A. Pigs roll in the mud because they don't like being
Clean. Answer option
B. The hummingbird egg is the world's smallest bird (b) P
egg.
C. Bats are blind.
D. The largest living frog is the Goliath frog of West
Africa.
a) True-A, D | b) True-B, D | ¢) True-C, D | d) True-C, B
F)alse-B, C lelse-A, C F)alse-A, B lelse-A, p | Ttue-B DFalse-A, C
32 Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives
given below: Answer option
Assertion (A) : Pressure cookers are fitted with ebonite
handles. @)
Justification (B) : Ebonite is strong.
a)Aistruebut | b) A is False |c) Both A|d) Both A
B is False |butBistrue. |[and B are|and B are
true and B is | true but B is Ais true but B is
the correct | not the
. False
explanation | correct
of A. explanation
of A.
33 | Which popular singer was awarded the Bharat Ratna award

in 2019?

A. Lata Mangeshkar
B. Asha Bhosle

C. Bhupen Hazarika

Answer option

(d)




D. Manna Dey

a)D b)B A dC Bhupen Hazarika
34 | Which country is the first to launch 5G mobile network in the
world?
é JUaSpZn Answer option
C. South Korea (d)
D. China
a)D | bB | 0)A | d)C South Korea
35 | What is the rank of India in the Global Human Development
Index, according to UNDP’s latest report?
A 133 Answer option
B. 134 (a)
C. 145
D. 140
a) B | b)D B | d)C 134
36 | Which of the following statements is/are True/ False?
A. The Atlantic Ocean is the biggest ocean on Earth. Answer obtion
B. Mount Everest is the tallest mountain in the world. (d) P
C. The total length of the Great Wall of China adds up to
13,171 miles.
D. Greenland is the largest island in the world.
a)True- C, D, | b) True-A, C, | ¢) True-B, | d) True-B,
F)alse— A B Flese— B,D C), False- A, C), D, False- True-B, C, D, False-
A
D A
37 Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives
given below: Answer option
A: Assertion- Diamond is used for cutting glass. (d)
B: Justification- Diamond has a high refractive index.
a)Aistruebut | b) A is False | c) Both A |d) Both A
B is False |butBistrue. |and B are and B are | o A and B are true
true and B is | true but B is .
the correct | not the but B is not th‘e
. correct explanation
explanation | correct of A
of A. explanation '
of A.
38 | Vijay Singh (golf player) is from which country?
A UK Answer option
B. USA (b)
C. India
D. Fiji
a) C | b)D | 0)A | d)B Fiji
39 | The father of Indian missile technology is Answer option
? (c)




A. Dr Homi Bhabha
B. Dr Chidambaram

C.Dr U.R. Rao
D. Dr A.P.J. Abdul Kalam
a) B b)A ¢)D d)C Dr A.P.J. Abdul
Kalam
40 | Which of these is comes under the small-scale industry in
India?
A. Jute industry Answer option
B. Paper Industry (c)
C. Textile Industry
D. Handloom Industry
a) C | b)B | oD | DA Handloom Industry
41 | Recently, India Signed a Memorandum of Understanding
with which country on Law and Dispute Resolution?
A Malaysia Answer option
B. Indonesia (d)
C. Singapore
D. Vietnam
a)B b) A c)D d)C Singapore
42 | Which of the following statements is/are True/ False?
A McDonalds has the most restaurants by location in
the United States. :
T . . . Answer option
B. Vanilla is the world's most expensive spice.
C. Hawaiian pizza comes from Canada. ©)
D. A potato was the first vegetable to be planted on the
space shuttle.
a) True- A & |b) True- A |c) True- C|d) True- B
C)False— B & &)D False- C 8ZD False- A &)D False- A True- € i]; False- A
D &B &B &C
43 Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives
given below: Answer option
A: Assertion-Bangladesh imports jute from India. (b)
B: Justification-Bangladesh has most of the jute mills.
a)Aistruebut | b) BothAand | c) Both A|d) Both A
B is False | B are False. and B are|and B are
true and B is | true but B is | Both A and B are
the correct | not the | False.
explanation | correct
of A. explanation
of A.
44 | The largest public sector undertaking in India is

A. Railways

B. Airways

C. Roadways

D. Iron and Steel Plants

Answer option

(b)




a) D | bA | o)C | dB 1. Railways
45 | Which among the following disease is caused by deficiency
of Nicotinic acid?
A. Anemia Answer option
B. Pellagra (c)
C. Dermatitis
D. Goiter
a)D b)C c)B d)A Pellagra
46 | Match the following words at column I with its meaning at
column II
I II
A. Prima faCie | At ﬁrst Slght Answer Option
B. Vice-versa ii. Under judicial (d)
custody
C. Sine qua non iii. The other way
around
D. Sub judice V. Essential condition
a) A-iii, B-i, | b) A-i, B-iii, | ¢) A-iv, B-|d) A-i, B-iii, oy e .
C-iv,D-ii | C-iv,D-ii | i, C-i, D-iii | Ceiv, D | 75 Brill, Coiv, D
47 | Which of the following statements is/are True/ False?
A All dogs have tails. Answer option
B. Cats always land on their feet. (b)
C. Penguins live in the North Pole.
D. Giraffes have no knees.
a) True-A&C | b) True- B |c) True- D |d) True- B
False-B&D | &C  False-A | &C False-A | &A False-C | 7B L False-A
&D &B &D
48 | Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives
given belpw: . . . Answer option
A: Assertion- Shimla is colder than Delhi. ©
B: Justification- Shimla is at a higher altitude as compared to
Delhi.
a)Aistruebut | b) BothAand | c) Both A|d) Both A
B is False | B are False. and B are and B are | o A and B are true
true and B is | true but B is .
and B is the correct
the correct | not the .
. explanation
explanation | correct of A
of A. explanation '
of A.
49 | At which place on earth are there days & nights of equal

length always?

A. Equator

B. Poles

C. Prime Meridian

Answer option

(d)




D. Nowhere

a)D b)C c)B d)A 1. Equator
50 | Umiam multipurpose power project is located in which state?
A Meghalaya Answer option
B. Assam (b)
C. Manipur
D. Nagaland
a)D b)A c)B d)C Meghalaya
51 | Which of the following statements is/are True/ False?
A Taj Mahal is located in New Delhi. Answer option
B Qutub Minar is located in New Delhi. W (@) p
C. Jama Masjid is located in Uttar Pradesh.
D Lotus Temple is located in Haryana.
a) True- B |b) True- A|c) True- C|d) True- D True- B only False-
only False- A, | only False- B, | only False- | only False- A C.&D
C, &D C, &D A, B, &D A, C, &B >
52 | Match the National Parks with its state where it is located:
A. Kaziranga National Park | 1. Uttarakhand .
i _ Answer option
B. Namdapha National Park | ii. Assam (©)
C. Jim Carbet National Park | iii. Gujrat
D. Gir National Park iv. Arunachal Pradesh
a) A-ii, B-iv, | b) A-i, B-iv, | ¢) A-ii, B-iv, | d) A-iii, B- N C o e
Ceiii, Di, | Ceii, Deiii, | C-i, Deii, | iv, C-i, Deii, | 10 BV &1 DAL
53 | Which of the following statements is/are True/ False?
A India got independence on 26 January 1947.
. . th
}Ii.ar Republic Day is celebrated on 15" January every Answer option
C. 2™ October is the birthday of Lal Bahadur Shastri. @)
D. Jawahar Lal Nehru was the 2" Prime Minister of
India.
a) True- C|b) All are|c) True- D |d) True- B
only, False-A, | False only, False- | &C False-A gnj&eI-)C only, False-A,
B &D A, B &C &D
54 | The mean of 50 observations was 36. It was found later that

an observation 48 was wrongly taken as 23. The corrected
new mean is?

Answer option

A 35

B. 365 (d)
C. 40

D. 4

a) C b)A oD d)B 36.5




55 | Which of the following statements is/are True/ False?
A. Arunachal Pradesh got statehood day on 20" January
1987.
B. Arunachal Pradesh got statehood day on 20" .
Answer option
February 1987. ©
C. Arunachal Pradesh was known as North East Frontier
Administration (NEFA) before 1972.
D. Arunachal is the largest state among North eastern
states.
a)Allare True | b) All are |[c)B&Dare | d)B & C are B & D are true and A
false true and A & | true and A& & C are false
C are false | D are false
56 | Which day is celebrated as ‘World Tuna Day’ every year?
A. 1% May Answer option
B. 2" May @ p
C. 3 May
D. 4" May
a)C b)D A d)B 2" May
57 | Mataberi Pera & Pachra, recently got a Gl tag, belongs to
which state?
A. Tripura Answer option
B. Assam (b)
C. Mizoram
D. Nagaland
a)B b)A c)D d)C Tripura
58 | Which organization recently launched the India’s first
Electric Vehicle (EV) index?
A Bombay Stock Exchange (BSE) Answer option
B. National Stock Exchange (NSE) (d)
C. Securities and Exchange Board of India (SEBI)
D. Madras Stock Exchange (MSE)
a)C b)A c)D d)B National Stock
Exchange (NSE)
59 | Which day is observed as ‘World Milk Day’ every year?
A. 1% June Answer ontion
B. 2" June SW? d)Op ©
C. 3" June
D. 4" June
a)B b)C ¢)D d)A 1% June
60 | In how many years a sum of Rs. 3000 will yield an interest

of Rs. 1080 at 12% per annum simple interest?

A. 3 years

Answer option

(b)

10




B. 4 years
C. 5 years
D. 6 years
a)B b)A c)D d)C 3 Years
61 | A man took a loan from a bank at the rate of 12% per annum
at simple interest. After 3 years he had to pay 5,400 as interest
only for the period. The principal amount borrowed by him
was? Answer option
A Rs. 5,000 (d)
B. Rs. 10,000
C. Rs. 15,000
D. Rs. 20,000
a)B b)A c)D d)C Rs. 15,000
62 | Match the political parties associated with NDA and INDIA
in recently held General election in India.
A. INDIA i. BJP Answ‘z;)"pt‘on
B. NDA ii. Congress
iii. AAP
iv. BID
a) A-ii, iii, B-1 | b) A-i, iii, B- | ¢) A-ii, iii, | d) A-i, ii, B- | A-ii, iii, B-i
ii, iv B-iv iii, iv
63 | G-7 summit 2024, held in which country?
A India Answczr)optlon
B. Pakistan a
C. Italy
D. Germany
a)C b) B c)D d)A
Italy
64 | Where is Big Ben located in the world?
A Paris Answzrl)optlon
B. London
C. New York
D. Shanghai
a)B b)A c)D d)C
London
65 | Who is the author of the book entitle-“Making India

Awesome”?

Answer option

A. VS Naipaul (a)
B. Satish Gujral

C. Balwant Gargi

D. Chetan Bhagat
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a)D b) A c)B d)C
Chetan Bhagat
66 | How many districts are there in Arunachal Pradesh till date?
A 25 AnswzarC ;)ptlon
B. 26
C. 27
D. 28
a)C b)B c)D d)A 28
67 | Name the new district created recently in Arunachal Pradesh?
A Si Yomi Answcz;)optlon
B. Lower Siang
C. Keyi Panyor
D. Anjaw
a)C b)A c)D d)B Keyi Panyor
68 | Match the product with the tribe which got GI tag recently in
Arunachal Pradesh.
PI‘OduCt Tribe Answer Option
A. Rice i. Adi (b)
B. Churpi ii. Tai Khamti
C. Apong 111. Monpa
D. Marua Apo 1v. Nyishi
a) A-i, B-iii, | b) A-ii, B-iii, | ¢) A-ii, B-i, | d) A-iv, B- | A-ii, B-iii, C-i, D-iv,
C-ii, D-iv, C-1, D-iv, C-iii, D-1v, | iii, C-i, D-ii,
69 | Which constitutional amendment focuses on urban local
bodies?
Answer option
A. 72 Amendment (a)
B. 73 Amendment
C. 74 Amendment
D. 75 Amendment
a)C b)B C)A d)D
74 Amendment
70 | Name the chairman of APPSC.
A Prof. Pradip Lingfa Answe(tlr))o ption
B. Ms. Rosy Taba
C. Jalash Pertin
D. Col. Koj Tarin (rtd.)
a)D b) A c)C d)B Prof. Pradip Lingfa
71 Where is the head quarter of RBI? Answer option

(c)
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A. New Delhi

B. Kolkata

C. Mumbai

D. Chennai

a)D b) A c)C d)B Mumbai

In which year Rajiv Gandhi University was converted to
central university?
Answer option

A, 2005 (b)
B. 2006
C. 2007
D. 2008
a) D b) C OA d)B
2007

Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives
given below:

. ) . Answer option
A: Assertion- For making statues, we are using bronze. P

(©

B: Justification- Through the mixing of copper and tin, we
produce bronze.

a) A is False | b)BothAand | c) Both A|d) Both A
but B is true. | B are False. and B are |and B are

true and B is | true but B is Both A and B are true

and B is the correct

the correct | not the .
. explanation
explanation | correct of A
of A. explanation '
of A.
74 | What is the name of the first Indian woman who wins the
Man Booker Prize?
A. Salman Rushdie Answer option
B. Arundhati Roy (d)
C. V.S. Naipaul
D. Kiran Desali
a) D | b)C | 0A | B Arundhati Roy
75 The study of Heavenly bodies is Known as ?
A. A. Astrophysics Answer option
B. B. Astronautics p
C. C. Astrology ©)
D. D. Astronomy
a)C b)A c)D d)B Astronomy
76 | Match the Union cabinet Minister with its portfolio in the

recently form government in India.
A. Ministry of Power 1. Dharmendra Pradhan

B. Ministry of Minority | ii. Manohar Lal Kattar
affairs
C. Ministry of Education

D. Ministry of MSME

iii. Kiran Rijiju

iv. Jitan Ram Manjhi

Answer option

(2)
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a) A-ii, B-iii, | b) A-i, B-iii, | ¢) A-ii, B-iii, | d) A-iii, B-ii, e e N
C)-i, D-iv, C)-ii, D-iv, C)-iv, D, C)-i, Doy, | AibBAiL G4, D,
77 | Which of the following statements is/are True/ False?
A. There are 365 days in a year. T
B. Thomas Edison invented the light bulb. T Answer option
C. George Washington was the first president of the (c)
United States. T
D. The United States is the largest country in the
world. F
a) True-A, D | b) True-A, B | ¢) True-A, B | d) True-A, D
82 C, False-B &)D, False-C 82 C, False- &) C, False- True-A, B & C,
False-D only
only only D only B only
78 | Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives given
below: Answer option
A: Assertion- Nowadays India is in trouble due to inflation. ©
B: Justification- India has not made sufficient effort to curb
all black money.
a)Aistruebut | b) BothAand |¢c) Both A|d) Both A
B is False | B are False. and B are and B are | p A and B are true
true and B is | true but B is )
the correct | not the and B is the correct
. explanation
explanation | correct of A
of A. explanation '
of A.
79 | Match the car brand with the company that produce it.
A. Innova Crysta 1. Tata Answer option
B. Creta 1. Toyota (d)
C. Nexon iii. Maruti
D. Ertiga 1iv. Hyundai
a)A-ii, B-iv, | b) A-i, B-iv, | ¢) A-iii, B-|d)A-ii, B-iv, o C o e
C)-iii, D-i, C)-ii, D-ii, 13, C-i, D-ii, C)-i, o
80 | Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives given
below:
A: Assertion- We should not use earthworms in the Answer option
agriculture. (a)

B: Justification- Earthworms goes deep inside the earth and
makes the soil soft.

a) A is False
but B is true.

b) Both A and
B are False.

c) Both A
and B are
true and B is
the correct

explanation
of A.

d) Both A
and B are
true but B is
not the
correct

explanation
of A.

A is False but B is
true.
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81 A man travelled a certain distance by train at the rate of 25
kmph and walked back at the rate of 4 kmph. If the whole
journey took 5 hours 48 minutes, the distance was?
Answer option
A. 15 km (a)
B. 30 km
C. 20 km
D. 25 km
a)C b)A c)D d)B 20 km
82 | Recently, which institution launched North India’s first
Human DNA Bank under ‘Make in India’ initiative?
A. Banaras Hindu University (BHU) Answer option
B. IIT Kanpur (b)
C. Delhi University (DU)
D. IIT Delhi
a)B b)A c)D d)C Banaras Hindu
University (BHU)
83 | Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives given
below:
A: Assertion-Four noble thoughts have been preached by Answer option
Buddha. (c)
B: Justification- He wanted to make the people of this earth
free from desires, as it is the cause of all miseries.
a) A is False | b) BothAand | c) Both A|d) Both A
but B is true. | B are False. and B are and B are | o 4 A and B are true
true and B is | true but B is .
the correct | not the and B is the correct
. explanation
explanation | correct of A
of A. explanation '
of A.
84 | Type Questions here for assertion and justification
A: Assertion- Due to hemoglobin, the colour of the blood is Answer option
red. (c)
B: Justification- Hemoglobin is red colour pigment.
a) A is False | b)BothAand | c) Both A|d) Both A
but B is true. | B are False. and B are and B are | o A and B are true
true and B is | true but B is .
the correct | not the and B is the correct
. explanation
explanation | correct of A
of A. explanation '
of A.
85 | What is the IMF’s estimated forecast for India’s GDP growth

in the current financial year?

Answer option

(d)
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A.6.1%
B.6.2%
C.6.7%
D.6.4%
a)B b)A c)D d)C 6.7 %
86 | Which university in North east India hosted weight lifting
competition under Khelo India prgramme in 2024?
A. Tezpur University Answer option
B. Royal Global University ©
C. Dibrugarh University
D. Rajiv Gandhi University
a)C b) A c)D d)B
Rajiv Gnahdi
University
87 | In which district Sainik school is located in Arunachal
Pradesh?
Answer option
A. Papum Pare (d)
B. East Siang
C. West Siang
D. Lower Subansiri
a)D b) A c)C d)B
East Siang
88 | Assertion (A): Religion is above law and education.
Reason (R):Strong religious preaching, practices and Answer option
propagation are essential for the materialization of the vision (a,b,cord)
of developed state.
a)AandR are | b)AandRare |c) A and R |d) A and R
false. true. are true and | are true and
R is the | R is not the a
correct correct
explanation | explanation
of A. of A.
89 | NEFA is currently known as: Answer option
(a,b,c ord)
a) Nagaland | b) Arunachal | c) Assam d) Manipur b
Pradesh
90 | Which of the following statement is true?

A. IRDA regulates mutual fund market in India.
B. IRDA is headquartered in Mumbai.
C. IRDA is under the jurisdiction of Ministry of Finance,

Answer option

Government of India. (a.b.cord)
D. IRDA was established on the recommendation of

Mehta Committee.

a)C&D b)A & B c)A&C dB&D a
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91 Identify the subject in the sentence: “Sheila and Tom are | Answer
going to the park”.
a) Sheila b) Tom ¢) Sheila d) Park ¢) Sheila and Tom
and Tom
92 | The green planet in the solar system is?
A. A Mars Answer option
B. B. Uranus
C. C. Venus @)
D. D. Earth
a) B [b)D o)A [d)C E. Uranus
93 | Match the number of MPs elected with the political parties
attached to it
A.BJP 1. 16 Answer option
B. Congress ii. 241 (b)
C. TDP iii. 12
D.JDU iv. 99
a)A-i, B-iv, | b) A-ii, B-iv, | ¢) A-ii, B-iv, | d) A-iii, B- oo N s
C)-ii, D-iii, C)-i, D-iii, C)-iii, D-i, iv), C-i, D-if, | 1 BAv. G, Do
94 | Which of the following statements is/are True/ False?
A. Infants have more bones than adults. Answer ontion
B The heart is the largest internal organ in the body. p
C. Most of the human brain is made of muscle. @)
D The human body is about 60% water.
a) True- A&D | b) True- B ¢) True- C|d) True- C
False-B & C | &D False-A | &D False-B | &D FalseB | 174 80 FalseB
& C &A &A
95 | Read the following statements: Assertion (A) and
Justification (B). Choose one of the correct alternatives given
below: Answer option
A: Assertion-We feel comfortable in hot and humid climate. (b)
B: Justification-Sweat evaporates faster in humid climate.
a)Aistruebut | b) BothAand |c) Both A|d) Both A
B is False | B are False. and B are | and B are
true and B is | true but Bis | Both A and B are
the correct | not the | False.
explanation | correct
of A. explanation
of A.
96 | The total number of active Payments Bank in India is: Answer option
(a,b,c or d)
a)2 b) 4 c)8 d)6 d
97 | Which of the following is the oldest exchange in the world? Answer option
(a,b,c or d)
a) New York | b) Amsterdam | c)London d) Tokyo b
Stock Stock Stock Stock
Exchange Exchange Exchange Exchange
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98 | Assertion (A): The establishment of IRDA restricted the
entry of private players in the Indian insurance industry. .
. : . Answer option
Reason (R):The entry of private players in the Indian (a.b,c or d)
insurance industry is good for the Indian economy and 7
society as well.
a)Aistruebut | b) A is false [c) A and R |d) A and R
R is false. but R is true. | are true and | are true and
R is the | R is not the b
correct correct
explanation | explanation
of A. of A.
99 | The oldest existing public sector bank of India is: Answer option
(a,b,c or d)
a) BOB b) SBI c) PNB d) UBI C
100 | Match the following pairs [Office and Headquarter]:
A NHB I Hyderabad
B SIDBI ii. New Delhi Answer option
C. RBI jii.  Lucknow (abcord)
D IRDA iv. Mumbai
a) A-i, B-ii, | b)A-iv, B-iii, | ¢)A-iii, B-ii, | d)A-ii, B-iii, d

C-iii, D-iv

C-ii, D-1

C-i, D-iv

C-iv, D-1
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